

همان فرایندی - هم دختر C - تکلیف شماره ی ۲۱

۱۹.۵

$$(1! + 3! + 5! + \dots + 25!) (2! + 4! + 6! + \dots + 24!) = (1 + 4 + \dots + 25) (2 + 4 + \dots + 24) = \textcircled{1}$$

$$\sqrt{x} \sqrt{y} = \sqrt{xy} \rightarrow \boxed{2} \quad \textcircled{2} \quad \checkmark$$

$$\sqrt[4]{(4+\sqrt{5})^{-1}} \sqrt{1+\sqrt{5}} = \sqrt[4]{(4+\sqrt{5})^{-1}} \times \sqrt[4]{(1+\sqrt{5})^2} = \sqrt[4]{\frac{1}{(4+\sqrt{5})}} \times \sqrt[4]{1+\sqrt{5}+2\sqrt{5}} \quad \textcircled{2}$$

$$= \sqrt[4]{\frac{1}{4+\sqrt{5}}} \times \sqrt[4]{1+\sqrt{5}+2\sqrt{5}} = \sqrt[4]{\frac{2(4+\sqrt{5})}{(4+\sqrt{5})}} = \boxed{\sqrt[4]{2}} \quad \checkmark \quad \textcircled{1.5}$$

$$\left(\frac{\sqrt{2}+\sqrt{5}}{\sqrt{10}+2}\right) (\sqrt{3}-\sqrt{5} - \sqrt{3+\sqrt{5}}) = b^2 = (3-\sqrt{5}) + (3+\sqrt{5}) - 2\sqrt{9-5}$$

$$b^2 = 4-2 \rightarrow b^2 = 2 \rightarrow b = \sqrt{2} \quad \checkmark$$

$$(\sqrt{3}-\sqrt{5} - \sqrt{3+\sqrt{5}})^2 = 3 - \sqrt{5} + 3 + \sqrt{5} - 2\sqrt{9-5} = 4 - 2\sqrt{4} = 4 - 2 = 2 \rightarrow \sqrt{2}$$

$$\frac{\sqrt{2}+\sqrt{5}}{\sqrt{2}(\sqrt{2}+\sqrt{5})} = \frac{1}{\sqrt{2}} \times \frac{\sqrt{2}}{\sqrt{2}} = \frac{\sqrt{2}}{2} \rightarrow \frac{\sqrt{2}}{2} \times \sqrt{2} = \frac{2}{2} = \boxed{1}$$

$$\frac{\sqrt{8}+\sqrt{2}\sqrt{5}}{5-\sqrt{5}} - 2(\sqrt[4]{9}-1)^{-1} = \quad \textcircled{3}$$

↓

$$5-\sqrt{5} \rightarrow (\sqrt{2})^4 + (\sqrt{3})^4 = (\sqrt{2}+\sqrt{3})(2+3+\sqrt{6})$$

$$(\sqrt{2})^4 + (\sqrt{3})^4 = (\sqrt{2}+\sqrt{3})(5+\sqrt{6}) \rightarrow 5+\sqrt{6} = \frac{(\sqrt{2})^4 + (\sqrt{3})^4}{\sqrt{2}+\sqrt{3}}$$

$$\frac{\sqrt{8}+\sqrt{2}\sqrt{5}}{5-\sqrt{5}} = \sqrt{2}+\sqrt{3} \quad \left\{ \begin{array}{l} 2(\sqrt[4]{9}-1)^{-1} = 2(\sqrt{3}-1)^{-1} = \frac{2}{\sqrt{3}-1} \times \frac{(\sqrt{3}+1)}{(\sqrt{3}+1)} = \\ \frac{2(\sqrt{3}+1)}{\sqrt{3}-1} = \frac{2(\sqrt{3}+1)}{2} = \sqrt{3}+1 \end{array} \right.$$

$$\sqrt{2}+\sqrt{3} - \sqrt{3}-1 = \boxed{\sqrt{2}-1}$$

$$\frac{\sqrt{2}\sqrt{5}-1}{4+\sqrt{5}} + (2-\sqrt{5})^{-1} \quad \textcircled{2}$$

$$4+\sqrt{5} \rightarrow \sqrt{5}^2 - 1 = (\sqrt{5}-1)(5+1+\sqrt{5}) \rightarrow \sqrt{5}^2 - 1 = (\sqrt{5}-1)(4+\sqrt{5})$$

$$4+\sqrt{5} = \frac{\sqrt{2}\sqrt{5}-1}{\sqrt{5}-1} \rightarrow \frac{\sqrt{2}\sqrt{5}-1}{\sqrt{5}-1} = \sqrt{5}-1 \quad \left\{ \begin{array}{l} \frac{1}{2-\sqrt{5}} \times \frac{(2+\sqrt{5})}{(2+\sqrt{5})} = \frac{2+\sqrt{5}}{4-5} = 2+\sqrt{5} \end{array} \right.$$

s.a.m

$$\sqrt{5}-1 + 2+\sqrt{5} = \boxed{2\sqrt{5}+1}$$

$$\frac{\sqrt{1+\sqrt{3}} + \sqrt{\sqrt{3}-1}}{\sqrt{\sqrt{3}-\sqrt{2}}} - r$$

Ⓕ

نزل ↓

$$\left(\frac{\sqrt{1+\sqrt{3}} + \sqrt{\sqrt{3}-1}}{\sqrt{\sqrt{3}-\sqrt{2}}} \right)^r = \frac{1+\sqrt{3}+\sqrt{3}-1+r\sqrt{3}-1}{\sqrt{3}-\sqrt{2}} = \frac{r\sqrt{3}+r\sqrt{2}}{\sqrt{3}-\sqrt{2}} \times \frac{\sqrt{3}+\sqrt{2}}{\sqrt{3}+\sqrt{2}} =$$

$$\frac{r(\sqrt{3}+\sqrt{2})^r}{3-2} = \frac{r(3+2+r\sqrt{4})}{1} = r(5+r\sqrt{4}) = 1+r\sqrt{4} = (\sqrt{4}+r)^r$$

$$\Rightarrow \sqrt{(\sqrt{4}+r)^r} = \sqrt{4}+r \rightsquigarrow \sqrt{4}+r-r = \sqrt{4}$$

✓

$$\sqrt[r]{\sqrt{3}} \times \sqrt[r]{4r} \times \sqrt[r]{r\sqrt{r}} = \sqrt[r]{r^3} \times \sqrt[r]{r \times 41} \times \sqrt[r]{r \times r} =$$

Ⓖ

$$\sqrt[r]{r^3} \times r \times \sqrt[r]{r} = \sqrt[r]{r^3} \times r \times \sqrt[r]{r} = \sqrt[r]{r^5} \times r = r \times r = \boxed{1r}$$

✓

Ⓖ

$$\frac{r^x + r^{x+1} + r^{x+2} + r^{x+3} + r^{x+4} + r^{x+5}}{r^{x-2} + r^{x-1} + r^x + r^{x+1} + r^{x+2} + r^{x+3}} = \Delta r$$

$$r^x (1+r+9+r^2+11+r^3) = r^x \times r^4 r$$

$$r^x \left(\frac{1}{r} + \frac{1}{r} + 1 + r + r + 1 \right) = r^x \left(\frac{10r}{r} \right) = r^x \times \frac{4r}{r}$$

Ⓖ

✓

$$\frac{r^x \times r^4 r}{r^x \times \frac{4r}{r}} = \Delta r \rightsquigarrow r^x \times r^4 r = r^x \times \frac{4r}{r} \times \Delta r \rightsquigarrow r^x \times r^4 = r^x \times \frac{4}{r}$$

$$r^x \times r = r^x \times 4 \rightsquigarrow r^x \times r^r = r^x \times r^r \rightsquigarrow \boxed{x=r}$$

$$(a^r + b^r - rab)^r (a^r + b^r + rab)^r = [(a-b)^r]^r [(a+b)^r]^r = (a-b)^r (a+b)^r \quad \text{Ⓕ}$$

$$((a^r - b^r)^r)^r \rightarrow a^r - b^r = \sqrt{4-r} - \sqrt{4+r} \rightsquigarrow (\sqrt{4-r} - \sqrt{4+r})^r =$$

$$\sqrt{4-r} + \sqrt{4+r} - r\sqrt{4-r} = r\sqrt{4-r} - r\sqrt{4+r} \rightsquigarrow [r(\sqrt{4-r} - \sqrt{4+r})]^r = r(4+r-r\sqrt{4r})$$

$$r(1-r\sqrt{r}) = r \times r(1-\sqrt{r}) = 1r(1-\sqrt{r}) = t(1-\sqrt{r})$$

$$\boxed{t=1r}$$

Ⓖ

✓

s.a.m

$$(a + \frac{1}{a} + \sqrt{r})^r (a + \frac{1}{a} - \sqrt{r})^r = r^t \quad \textcircled{v}$$

$$\left(\left[\left(a + \frac{1}{a} \right) + \sqrt{r} \right] \left[\left(a + \frac{1}{a} \right) - \sqrt{r} \right] \right)^r = \left(a^r + \frac{1}{a^r} + r - r \right)^r = \left(a^r + \frac{1}{a^r} \right)^r =$$

$$a^r + \frac{1}{a^r} + r = \cancel{v - r\sqrt{r}} + \frac{1}{\cancel{v - r\sqrt{r}}} + r \rightarrow \cancel{v - r\sqrt{r}} + \cancel{v + r\sqrt{r}} + r = 14$$

$$\frac{1}{v - r\sqrt{r}} \times \frac{(v + r\sqrt{r})}{(v + r\sqrt{r})} = \frac{v + r\sqrt{r}}{r - r} = v + r\sqrt{r}$$

$$14 = r^t \rightarrow r^r = r^t$$

$$\boxed{t = r}$$

✓

$$A = \sqrt[r]{r \sqrt[r]{14}} \left(\frac{1}{r} \right)^{-\frac{r}{r}}$$

$$\sqrt[r]{r} \times \sqrt[r]{14} \times r^{\frac{r}{r}} = \sqrt[r]{r^r} \times \sqrt[r]{r^r} \times \sqrt[r]{r^r} =$$

$$\sqrt[r]{r^r} \times \sqrt[r]{r^r} \times \sqrt[r]{r^r} = \sqrt[r]{r^{r^3}} = r^{\frac{r^3}{r}} = r^r = r \rightarrow A = r$$

$$(rA)^{-\frac{1}{r}} = (r \times r)^{-\frac{1}{r}} = (r^r)^{-\frac{1}{r}} = r^{r \times (-\frac{1}{r})} = r^{-1} = \boxed{\frac{1}{r}}$$

✓

$$\sqrt[r]{a} = r_v \times a^{\frac{1}{r_v}} \rightarrow a^{\frac{1}{r_v}} = r_v \times a^{\frac{1}{r_v}} \quad \textcircled{4}$$

$$1 = r_v \times \frac{a^{\frac{1}{r_v}}}{a^{\frac{1}{r_v}}} \rightarrow 1 = r_v \times a^{\frac{1}{r_v} - \frac{1}{r_v}} = r_v \times a^{\frac{1}{r_v}}$$

$$1 = r_v \times a^r \rightarrow a^r = \frac{1}{r_v} \rightarrow a = \pm \frac{1}{r_v \sqrt{r}} \rightarrow a = + \frac{1}{r_v \sqrt{r}}$$

$$\left(\frac{1}{a} - r \right) = r\sqrt{r} - r = r(\sqrt{r} - 1)$$

$$\frac{r(\sqrt{r} - 1)}{(\sqrt{r} + 1)} \times \frac{(\sqrt{r} - 1)}{(\sqrt{r} - 1)} = \frac{r(r + 1 - r\sqrt{r})}{r - 1} = \frac{r(r - r\sqrt{r})}{r} =$$

$$\frac{r \times r(r - \sqrt{r})}{r} = r(r - \sqrt{r}) = \boxed{4 - r\sqrt{r}}$$

✓

$$\sqrt{x+a} - \sqrt{x-f} = r$$

(10)

$$\sqrt{x+a} + \sqrt{x-f} - r = ?$$

$$(\sqrt{x+a} - \sqrt{x-f}) (\sqrt{x+a} + \sqrt{x-f}) = x+a - (x-f)$$

$$x+a - x+f = a+f$$

$$\sqrt{x+a} + \sqrt{x-f} = \frac{a+f}{r} = \frac{a}{r} + r$$

(r) ✓

$$\frac{a}{r} + r - r = \boxed{\frac{a}{r}}$$